

$$\begin{cases} \alpha = \frac{\Delta \pm \sqrt{12}}{2} \\ \beta = \frac{\Delta - \sqrt{12}}{2} \end{cases}$$

$$\frac{f(\alpha) + f(\beta)}{\omega(\beta)}$$

$$= (19)$$

$$\begin{cases} \alpha = \mu \\ \beta = -\frac{\mu}{2} \end{cases} \quad \alpha + \beta = \mu - \frac{\mu}{2} = \underline{\underline{1/2}}$$

[illegible]

[illegible]

$\alpha < \beta < \frac{g}{r}$
 $\frac{g}{r} \rightarrow \frac{1}{3} + \frac{10}{r} + m < \frac{g}{r}$
 $\frac{g}{r} + m < \frac{g}{r}$
 $m < \frac{g}{r}$

$$y = mx^2 - 14x + 4m \quad y = 0$$

$$\left| \frac{-b}{2a} \right| \approx \frac{1 \nu}{2 m} \approx \frac{c}{m} \rightarrow y = r \approx m \left(\frac{w c}{m \nu} \right) - 1 r \left(\frac{c}{m} \right) + \Delta m_s - 1$$

$$\frac{4}{2/c} \quad \frac{2 \times 10}{\text{---}}$$

$$\frac{-m_1 m_2 - v^2}{m} = \omega m_1 - m_2 \omega$$

$$\Delta m = \frac{W}{c^2} \Rightarrow \Delta = \frac{W}{c^2} \Rightarrow \frac{W}{c^2} = \frac{W}{c^2} \Rightarrow \frac{W}{c^2} = \frac{W}{c^2}$$

$$x = \alpha^{\nu} \cdot \nu(\alpha+1) x + \nu \alpha - 1 = \beta^{\nu} \cdot \nu(\alpha+1) x + \nu \alpha - 1$$

$$\alpha^{\nu} - \beta^{\nu}$$

$$(\alpha + \beta)(\alpha - \beta) = 0$$

$$\frac{-b}{a} \times \frac{\sqrt{b^2 - 4ac}}{1a} = \frac{-1 \times 2 \pm \sqrt{1^2 - 4 \times 1 \times (-1)}}{1} = \frac{-2 \pm \sqrt{1 + 4}}{1} = \frac{-2 \pm \sqrt{5}}{1}$$

$$z = f(\alpha_1) \sqrt{\alpha_1^2} \quad z \rightarrow \frac{\alpha_1}{\alpha_2}$$

$$x^{\mu} = t$$

$$\begin{cases} S = \frac{-b}{a} = v \\ P = \frac{c}{a} = 0 \end{cases}$$

$\psi(\partial^V) \mp (-\psi)(V)(-\partial) \mp \psi(V)$
 $\omega_0 \mp 1, \partial \mp 1, \partial_2 \mp 1, \partial_3 \mp 1$

$$\sqrt{149} \approx 12.2$$

$$\frac{-b}{2a} = \frac{r}{r} \Rightarrow r \quad (1)$$

$$y = f\left(\frac{F}{kV}\right) - f\left(\frac{V}{1c}\right) - y$$

$$y^2 = \frac{1}{K} - r \rightarrow \frac{1}{K} - \frac{1}{K} = -\frac{1}{K} \left(\frac{\mu}{12} \right) - \frac{1}{K}$$

$$-P - \text{Sk} = -\wedge - K K$$

$$\neg = PK \rightarrow K \approx M$$

$$-m\lambda^2 + m\lambda + 1 - m - \lambda \neq 0$$

$$-m x^{\nu} (m+1) x + (m+1) = 0$$

$$\rightarrow \underline{-1 < m < -\frac{1}{2}}$$

$$\Delta = (m+1)^p - p(m+1)(-m) < 0$$

$$\omega_m^r \neq m+1 < 0$$

$$\Delta_{2 \times 4} f(-0)(1) = 14$$

$\frac{m}{y} \quad - \quad \frac{1}{\phi} \quad - \quad \frac{1}{\phi} \quad - \quad \frac{1}{\phi} \quad - \quad \frac{1}{\phi}$